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TOSSUPS

1.A house is faintly visible on a slope in the left middle ground of this painting. In the lower right of this painting, a staff, small bag, and red rope lie on the ground, while two figures in the center also hold staves. To their right, a blond man speaks to a woman in pink holding a fan. Several cherubim fly above a group of people in the lower left, while a statue of Venus is visible on the right-hand side. Three couples appear on a hill in its foreground, and people board a golden boat on a shore below them. For 10 points, name this Rococo painting depicting a party leaving for the birthplace of Venus, a painting by Antoine Watteau.

ANSWER: The Embarkation for Cythera [or The Embarkation to Cythera; or Pilgrimage to Cythera; or Return from Cythera; accept any title that is reasonably similar, such as journeying to or from Cythera]

2.A foreword to this work by Theodore Ziolkowski states that the character of Bastian Perrot de Calw is based on the owner of a machine shop where the author worked. Dasa becomes the disciple of a yogi in a story the protagonist of this book writes in his student years. The protagonist spends time with the Elder Brother, who teaches him divination from the I Ching, and at Mariafels with Father Jacobus. Other events include learning the art of meditation from the Music Master and debating with Plinio Designori about the merits of the insular Castalia. For 10 points, name this novel in which Joseph Knecht becomes the master of the titular activity, written by Hermann Hesse.

ANSWER: The Glass Bead Game [or Das Glasperlenspiel; or Magister Ludi]

3.Thévenin's theorem states that any circuit can be modeled by an equivalent circuit that contains only a voltage source and a value of this quantity. In metals, this quantity increases with temperature, while the opposite is true in semiconductors. It can be obtained in a series circuit by adding all of the individual values for each component of the circuit, and it is the inverse of conductance. Components designed to add this quantity to circuits are often made of two metal leads and a carbon body, usually identified by colored bands. For 10 points, name this electrical quantity, the ratio of voltage to current across a component, measured in ohms and usually symbolized R.

ANSWER: resistance [prompt on "impedance"]

4.Taylor Creek flows into this state's largest freshwater lake, while its highest point is the lowest state high point. That point is Britton Hill, and this state also contains the Myakka and Peace rivers. One site in this state commemorates a Huguenot colony led by Jean Ribault and slaughtered by Spaniards, Fort Caroline National Memorial. The Ten Thousand Islands can be found off this state's coast, and this state contains Big Cypress National Preserve near a body of water fed by the Kissimmee River, Lake Okeechobee. For 10 points, identify this state home to the Everglades and its namesake Keys, with capital at Tallahassee.

ANSWER: Florida

5.This thinker wrote a six volume history of Great Britain. He frequently used the his namesake school's wrecking ball to demolish the ideas of rationalists, and wrote a work in which Philo is the projection of himself, Dialogues Concerning Natural Religion. He argued against the title concept as widespread falsehoods in On Miracles, despite his thoughts on inherent lack of causation due to lack of formal knowledge. Harold Pritchard criticized his failure to address the problem of the "missing shade of blue" in one work. For 10 points, name this Scottish philosopher and proponent of empiricism, who wrote An Enquiry Concerning Human Understanding.

ANSWER: David Hume

6.The Coase theorem defines the conditions under which these do not cause ineffiency and require government intervention. In contrast with the real type, the pecuniary type affects prices rather than resources. The tragedy of the commons, in which individuals act in a way that benefits them but harms the group, is an example of the negative type of them, which can be corrected by the Pigovian tax. Education is a positive one, and the occurrence of these means that the price of a good or service does not encompass all the costs and benefits associated with it. For 10 points, name this economic concepts exemplified by economic transactions' effects on third parties.

ANSWER: externalities [or externality; or spillover]

7.In one section of this opera, the aria "Qual occhio al mondo" is sung in response to Marchesa Attavanti having modeled for a character, and in another section, Sciarrone announces that Napoleon has won the Battle of Marengo. One character in this opera divulges Angelotti's hiding place, and that character is nearly raped by the chief of police before having him order Spoletta to mock execute her lover. The title character murders Scarpia and meets with her lover in prison, not realizing Mario Cavaradossi will be killed as planned. The title character jumps from a castle and kills herself in, for 10 points, what opera by Giacomo Puccini?

ANSWER: Tosca

8.A scene from the movie Brüno featuring the sister of a person involved in this event was cut because of it, and this event caused Rio de Janeiro's mayor to announce a statue of an involved party in the Dona Marta favela. An event caused by this event featured Queen Latifah reading a Maya Angelou poem and Al Sharpton speaking and took place at Staples Center. Conrad Murray was investigated for causing this event, and the person it affected had been taking propofol and had been scheduled to begin his This Is It concert in three weeks. For 10 points, name this June 25, 2009 event, the passing away of the pop singer of "Smooth Criminal" and "Billie Jean."

ANSWER: death of Michael Jackson [prompt on partial answer; accept reasonable equivalents]

9.He asked Jews and non-Jews to "stop this destructive and obstinate mutual enmity" in a letter addressed to the city of Alexandria. His forces captured Colchester during an invasion of Britain, during which he made a personal appearance. One revolt during his reign was led by his wife at the time, Boadicea. Another of his wives conducted a public marriage ceremony with Gaius Silius, for which the lovers were killed. His last wife forced him to pass over his son Britannicus in name a successor. He was killed by Agrippina the Younger via poison. For 10 points, identify this nephew of Tiberus and predecessor to Nero.

ANSWER: Tiberius Claudius Caesar Augustus Germanicus [or Tiberus Claudius Nero Germanicus]

10.This author wrote a work in which "the merciless iced east winds" knive his fellows and ends many stanzas with the line "But nothing happens". In addition to "Exposure," he wrote a work in which the reader is urged to remember how sunlight "always woke him, even in France", and to "Think how it wakes the seeds-". Besides "Futility", this poet wrote one work involving "tenderness of patient minds" and beginning "What passing bells for these who die as cattle?", while in another well-known poem the narrator speaks of telling "that old lie", ending with "Pro patria mori". For 10 points, name this war poet of "Anthem for Doomed Youth" and "Dulce et Decorum Est".

ANSWER: Wilfred Owen

11.In one legend Pandareus stole a golden dog and attempted to give it to this figure to guard. He fathered the ugly sculptor Broteas while king of Mount Sipylus. His daughter flaunted her superiority to Leto, whose pride caused her to send Artemis and Apollo to murder that daughter's fourteen children. In addition to fathering Niobe, he fathered a man whose efforts to defeat Oenomaus in a chariot race resulted in his marrying Hippodamia. This man stole nectar and ambrosia from Olympus and served a dish to the gods which Demeter accidentally ate the shoulder of, his aforementioned son Pelops. For 10 points, name this man doomed to stand in a lake forever with fruit overhead just out of reach.

ANSWER: Tantalus

12.The name for these objects proposed by astronomer Julio Ángel Fernández was unanimously rejected in favor of the current name. According to the IAU, new Trans-Neptunian objects with an absolute magnitude of less than +1 should be named under the assumption that they are these objects. They have not cleared their orbital path of similarly sized objects, but they have sufficient gravity to have been rounded. Ceres is the only one in the asteroid belt; all the others, including Makemake (MAH-kay MAH-kay) and Eris, are Trans-Neptunian. For 10 points, name this type of celestial body to which Pluto was demoted in 2006, a body that is not quite a planet.

ANSWER: dwarf planets

13.Unlike other pianists, Frédéric Chopin believed that this key's scale was the most difficult to play. Symphonies in this key include Mozart's "Jupiter" Symphony, both Schubert's sixth and ninth, which are nicknamed "The Little" and "The Great" variety of this key, and George Bizet's first symphony. One work in this key's relative minor is Rachmaninoff's Rhapsody on a Theme of Paganini, and Rachmaninoff's second piano concerto was written in this key's parallel minor which has three flats in its key signature. For 10 points, name this key signature, the relative major of A minor, often considered the simplest of the key signatures in that it has no sharps or flats.

ANSWER: C major

14.Clarence Thomas argued that this case had been misunderstood by the courts in Missouri v. Jenkins. Collins J. Seitz presided over one case combined with this case, Gebhart v. Belton, and Kenneth and Mamie Clark were called as witnesses for another such case, Elliott v. Briggs. Psychological doll experiments were used as evidence in this case, whose unanimous decision included the instructions to perform an action "with all deliberate speed." The Equal Protection Clause was violated by the "separate but equal" doctrine that this case overruled. A Warren Court decision, for 10 points, name this landmark Supreme Court case nullifying Plessy v. Ferguson that ended segregation.

ANSWER: Brown v. Board of Education of Topeka, Kansas [accept in either order]

15.The differences in this organelle between prokaryotes and eukaryotes allow antibiotics such as tetracycline to target prokaryotic ones without damaging eukaryotic ones. It can be found in eukaryotic mitochondria and chloroplasts, but its primary location is in the cytoplasm. Its A, P, and E sites bind to aminoacyl, peptidyl, and free tRNAs, respectively, and it is composed of one large and one small subunit, which disassociate after each use. Synthesized in the nucleolus and using mRNA as a template during the second step of protein synthesis, this is, for 10 points, what organelle that can be free or attached to the endoplasmic reticulum?

ANSWER: ribosome

16.One character in this work has returned from a vacation in Florida, though another character notes that his mind was not rested. The central character recalls getting a job offer from his brother Ben, though he refused due to the inspiration he received from Dave Singleman. One character steals a fountain pen from Bill Oliver, though he realizes that he is unhappy in the city and longs for life on a ranch. The discovery of a tube behind a fuse box alarms Linda, and the image of stockings disturbs the main character due to his guilt over an encounter with a woman and his son Biff in Boston. For 10 points, name this play in which Willy Loman kills himself for insurance money by Arthur Miller.

ANSWER: Death of a Salesman

17.This process is used in the production of carbon tetrachloride to remove the sulfur monochloride byproduct, and neon, krypton, and xenon were discovered by it. The destructive variety of this process produces new, smaller molecules, a phenomenon called cracking, while a mixture that cannot be separated by this process is known as an azeotrope. One type of this process which is used in the purification of gasoline leads to lighter compounds being removed first and is known as the fractional kind. For 10 points, name this process in which compounds are heated and boiled, causing them to be separated by their boiling points.

ANSWER: distillation

18.Near the beginning of this work one character states that "No man shall say that I betrayed a brother", and in another section of this work Tiresias prophesies the death of another character's five children. Characters in this work include the protagonist's sister Ismene, who tries to confess to the protagonist's crime, and her fiancee Haemon, who commits suicide and triggers Eurydice's death. After burying Polynices against the king's wishes, the protagonist is condemned to death by Creon, and this play is the third in a trilogy featuring the protagonist's father at Colonus. For 10 points, identify this work by Sophocles about Oedipus' daughter.

ANSWER: Antigone

19.The city of Magdeburg was besieged ten times during this conflict, and peace settlements began after the duc d'Enghien defeated the Spanish at the Battle of Rocroi. Albrecht von Wallenstein was a leader on one side of this conflict, while Protestant forces were led by Oxenstierna after the death of Gustavus Adolphus. Phases of this war included the Bohemian and the Swedish, and its immediate cause was the throwing out of a window of two Habsburg diplomats known as the Second Defenestration of Prague. It eventually included most European powers except Britain. For 10 points, name this war fought mostly in the Holy Roman Empire which ended with the Peace of Westphalia in 1648.

ANSWER: Thirty Years' War

20.During a gold rush in this country, fighting broke out at the Eureka Stockade between diggers and troops. The land claims of natives were legitimized in the Mabo Case, which led to the passage of the Native Title Act. During World War II, this country was victorious at the battle of Cape Matapan and played a key role in the defense of Tobruk. William Bligh was deposed as a governor within this country during the Rum Rebellion, which took place in new South Wales, and this nation's forces, along with those of New Zealand, formed the ANZAC corps. Including states such as Victoria and Queensland, for 10 points, name this nation, the largest island and smallest continent in the world.

ANSWER: Australia

21.He accompanied the Grand Embassy across Europe to form alliances with other nations, and while traveling, he was able to work with the Dutch East India Company. The Bulavin Rebellion took place during his rule, and he tried to form an alliance with the Knights of Malta. In an effort to control the Black Sea, he launched a series of attacks against the Ottomans at Azov, and he also partook in a conflict to gain possession of the Baltic Sea from Charles XII of Sweden. He ruled jointly with his half-brother Ivan, and he ordered his eldest son Alexei tortured and killed for treason. For 10 points, name this ruler who was victorious in the Great Northern War and who strove to modernize Russia.

ANSWER: Peter the Great [or Peter I]
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1.In this work, Krishna appears to the main character as a charioteer during the war between the Pandavas and Kauravas. For 10 points each:

[10] Identify this section of the Mahabharata in which Krishna explains the five basic truths of Hinduism prior to the battle of Kurukshetra.

ANSWER: Bhagavad Gita

[10] This son of Indra and Pandava engages in a famous conversation with Krishna. He murdered his archrival Karna and hit the eye of a rotating fish to win the hand of his wife, Draupadi.

ANSWER Arjuna

[10] This sage wrote the Bhagavad Gita and Mahabharata. Ganesha broke off his own tusk in order to transcribe the first book of the Mahabharata to aid this poet.

ANSWER: Vyasa

2.It is home to a well-preserved Neolithic village, Choirokoitia. For 10 points each:

[10] Identify this country with capital at Nicosia, which has ethnic strife between its Greek and Turkish residents.

ANSWER: Cyprus

[10] This UN-controlled zone marking roughly 2% of the island is a buffer between southern Greek Cyprus and northern Turkish Cyprus.

ANSWER: Green Line

[10] This Cypriot archeological site northwest of Paphos harbor is home to burial structures for high-ranking officials carved out of solid rock, often with Doric columns.

ANSWER: Tombs of the Kings

3.Kikuchiyo is originally rejected by before becoming part of the title group. For 10 points each:

[10] Identify this film in which the title group, including Kyuzo and Kambei, is hired by villagers to protect their crop from bandits.

ANSWER: The Seven Samurai

[10] This Japanese filmmaker portrayed detectives Sato and Murakami in Stray Dog in addition to making The Seven Samurai.

ANSWER: Akira Kurosawa [accept name in either order]

[10] In this Kurosawa film and take on Macbeth, General Miki is killed but returns as a ghost, and Washizu Taketoki eventually dies by being shot by his own archers.

ANSWER: Throne of Blood

4.The USS Hornet and Enterprise did not return quickly enough to participate in this battle, and the USS Lexington was destroyed in it. For 10 points each:

[10] Identify this World War II naval battle, the first in which aircraft carriers fought, which culminated in the Japanese abandoning their plans to invade Port Moresby.

ANSWER: Battle of the Coral Sea

[10] The Battle of the Coral Sea left destroyers Shokaku and Zuikaku unable to participate in this most important battle of the Pacific Campaign, a pivotal American victory which destroyed four Japanese carriers.

ANSWER: Battle of Midway

[10] This American carrier was heavily damaged at the Battle of the Coral Sea, but not sunk as the Japanese had thought. It was later sunk at Midway.

ANSWER: USS Yorktown

5.Mr. Pilkings's intervention leads to tragedy for the community in this play. For 10 points each:

[10] Name this play in which Elesin's failure to commit suicide causes his son Olunde to kill himself in his place.

ANSWER: Death and the King's Horseman

[10] This Nigerian playwright and writer of Death and the King's Horseman also wrote plays such as A Dance in the Forest and the poetry collection A Big Airplane Crashed Into The Earth.

ANSWER: Wole Soyinka

[10] In this play by Soyinka, Baroka and Lakunle fight over the right to marry the titular precious object, Sidi.

ANSWER: The Lion and the Jewel

6.Their scalar variety can represent a potential, while their vector variety often represents a force. For 10 points each:

[10] Name this mathematical concept in physics which represents a quantity that varies as a function of position in space or time. The gravitational one of this has a magnitude inversely proportional to the square of the distance from the central object.

ANSWER: field [or vector field; or force field; or gravitational field]

[10] This vector field, measured in teslas or gauss, occurs crossed with the charged particle's velocity vector in the equation for the Lorentz force. It deflects moving charged particles in a direction perpendicular to their motion.

ANSWER: magnetic field [or B-field; or magnetic flux density; or magnetic induction, do not accept “magnetizing field”]

[10] The divergence of the magnetic field equals zero according to one of these four laws that govern electric and magnetic fields, named for a Scottish physicist.

ANSWER: Maxwell's equations

7.He formulated the concept of the peak experience. For 10 points each:

[10] Name this humanistic psychologist and proponent of a five-stage hierarchy of needs.

ANSWER: Abraham Maslow

[10] This top tier of Maslow's hierarchy of needs concerns the realization of one's potential.

ANSWER: self-actualization

[10] Maslow gave this name to the lower four levels of his hierarchy. They include social and physiological needs.

ANSWER: deficiency needs
8.Answer the following questions about a certain English composer for 10 points each.

[10] His first symphony, entitled A Sea Symphony, was influenced by Walt Whitman’s Leaves of Grass, although he is better known for the opera Sir John in Love, which contains the Fantasia on “Greensleeves.”

ANSWER: Ralph Vaughan Williams

[10] He taught William Bryd and is predominately known for his sacred works such as Lamentations of Jeremiah. His “Canon” was set to the hymn “Glory to thee, my God, this night,” which in turn inspired Vaughan Williams to write a fantasia based on his works.

ANSWER: Thomas Tallis

[10] A piece for solo violin and orchestra, it was based on a George Meredith poem with the same name. It depicts the titular animal performing the title action until it disappears from the view of observers below.

ANSWER: The Lark Ascending

9.He is the only British Prime Minister to have won the Nobel Prize in Literature. For 10 points each:

[10] Name this British politician who succeeded Neville Chamberlain's and led Britain during World War II.

ANSWER: Sir Winston Leonard Spencer-Churchill

[10] Before he became Prime Minister, Churchill planned and was disgraced by this disastrous campaign, which attempted to attack the Dardanelles and at which Mustafa Kemal was a leader.

ANSWER: Gallipoli campaign

[10] Along with the "blood, toil, tears, and sweat" and "We shall fight on the beaches" orations, this Churchill speech was delivered during the invasion of France. In it Churchill states that he "expect[s] the Battle of Britain is about to begin" and expresses his faith in the Empire.

ANSWER: the "This was their finest hour" speech

10.It takes place in Maycomb, Alabama, and its characters include the recluse Boo Radley. For 10 points each:

[10] Identify this novel in which a black man is accused of raping Mayella Ewell.

ANSWER: To Kill A Mockingbird

[10] This friend of Truman Capote based Dill off him and created Scout in her work To Kill A Mockingbird.

ANSWER: Harper Lee

[10] This lawyer, Jem and Scout's morally upright father, is appointed to defend Tom Robinson by the court but loses because of the jury's prejudice.

ANSWER: Atticus Finch [or A. Finch; prompt on "Finch"]

11.Answer me these questions three about minerals and rocks for 10 points each.

[10] This scale is used to rate the hardness of a mineral, ranging from 1 (talc) to 10 (diamond).

ANSWER: Mohs hardness scale

[10] This mineral has a Mohs hardness rating of between 5 and 7, and exists in two varieties, one of which is known as nephrite. It is usually an opaque green.

ANSWER: jade

[10] This diagram, formulated to describe why certain minerals are found together, has two branches, one of which begins with biotite and the other of which consists of plagioclase feldspars.

ANSWER: Bowen's reaction series

12.In a side plot, its protagonists defeat a demon pretending to be the sun and moon, Vucub-Caquix. For 10 points each:

[10] Identify this text recounting the adventures of the ball-playing Hunahpu and Xbalanque, the Hero Twins.

ANSWER: Popol Vuh

[10] The Popol Vuh is the mythological epic of this Mesoamerican culture known for sites such as Palenque and Chichen Itza.

ANSWER: Mayan civilization

[10] The Hero Twins undergo a series of tests after traveling to this Mayan underworld to play ball, whose inhabitants had formerly used a bladed ball to kill One Hunahpu.

ANSWER: Xibalba

13.This film gave Martin Scorcese his first ever "Best Director" Academy Award. For 10 points each:

[10] Name this 2006 crime film, which also won the "Best Picture" Academy Award and starred Jack Nicholson, Leonardo Dicaprio, and Matt Damon.

ANSWER: The Departed

[10] This actor played Sgt. Sean Dignam, the deputy of the undercover unit who enlists William Costigan, Jr. to infiltrate a gang of organized crime in Boston.

ANSWER: Mark Wahlberg

[10] Wahlberg starred in this 2007 film as Sgt. Bob Lee Swagger, a man wrongly accused of attempting to assassinate the president.

ANSWER: Shooter

14.Its subject faces a Japanese curtain, and the artist's own Black Lion Wharf etching appears in this painting's background. For 10 points each:

[10] Identify this painting of a seated woman wearing a white shawl and black dress, facing left and holding a white handkerchief in her lap.

ANSWER: Arrangement in Grey and Black, No. 1: Portrait of the Artist's Mother [DO NOT READ THIS OUT LOUD, but accept Whistler's Mother]

[10] Identify this American artist of Arrangement in Grey and Black, who often called his paintings musical terms such as "harmonies" and "nocturnes."

ANSWER: James Abbott McNeill Whistler

[10] This Whistler painting depicts a fireworks show in a London city park. Whistler focused more on atmospheric effects than scenic details.

ANSWER: Nocturne in Black and Gold: The Falling Rocket [accept either or both]

15.Near the end of this novel, Tanya rejects the title character in a speech. For 10 points each:

[10] Name this work in which the title character kills his best friend Vladimir Lensky in a duel.

ANSWER: Eugene Onegin

[10] Identify this Russian author of Boris Godunov as well as Eugene Onegin.

ANSWER: Alexander Pushkin

[10] In this Pushkin poem, a statue comes to life and chases Yevgeny after he discovers Parasha's hut is destroyed and goes mad.

ANSWER: "The Bronze Horseman"

16.After the end of the French Revolution of 1789, Europe experienced relative peace until the mid-1800s. For 10 points each:

[10] Name this series of revolutions commonly known for the year in which they occurred.

ANSWER: European Revolutions of 1848 [or Spring of Nations; or Springtime of the Peoples; or Year of Revolution]

[10] This was the only revolution in 1848 that immediately and permanently achieved its goals. It ended the constitutional monarchy of Louis-Philippe I.

ANSWER: French Revolution of 1848 [or February Revolution]

[10] The protest of Germans living in this region resulted in a war between Prussia and Denmark. Its southern half is now part of Germany's northernmost state.

ANSWER: Schleswig-Holstein
17.According to the Pauli exclusion principle, no more than two electrons can occupy any one of these. For 10 points each:

[10] Name these areas of high electron density around an atom, which are combined to form hybridized molecular analogues in compounds.

ANSWER: atomic orbital

[10] This rule states that atomic orbitals are filled in a certain order which leads to the most stable, lowest energy, configuration. It is German for "building up".

ANSWER: Aufbau principle [accept equivalent terms for "principle" such as "rule"]

[10] Unpaired electrons in these atomic orbitals frequently cause solutions of an element to have a distinctive color. Crystal field theory explains the splitting of these orbitals.

ANSWER: d orbitals

18.One side in this conflict did not take kindly to being landlocked, but in the end only gained the port of Puerto Casado and a corridor to a river. For 10 points each:

[10] Identify this conflict fought over a patch of land thought to have a bunch of oil.

ANSWER: Chaco War

[10] The two combatants in the Chaco War were Bolivia and this country. In April 2009, Evo Morales and Fernando Lugo, the leader of this country, signed an agreement blaming foreign interests for starting the war.

ANSWER: Paraguay

[10] Bolivia went so far as to hire this German to train its army. However, the Indian conscripts didn’t really want to fight, and he was eventually replaced by Enrique Peñaranda.

ANSWER: Hans von Kundt

19.Its protagonist loves Sue Bridehead despite being first married to Arabella Donn. For 10 points each:

[10] Identify this novel in which the title figure's son Little Father Time kills himself and Sue's two children.

ANSWER: Jude the Obscure

[10] This Victorian Gothic author of Jude the Obscure, who often set his stories in Wessex, wrote of Gabriel Oak's loss of all his sheep in Far from the Madding Crowd.

ANSWER: Thomas Hardy

[10] In this Hardy poem, the narrator recalls how "a voice arose among / The bleak twigs overhead" and believes there is "Some blessed Hope" in the title animal's song.

ANSWER: "The Darkling Thrush"

20.Violations of it include inbreeding and natural selection, and it can be used to approximate the frequencies of carriers of recessive diseases. For 10 points each:

[10] Name this principle which states that allele frequencies remain constant in populations when certain conditions are met. In its simplest case, it states that p + q = 1, where p and q respectively are the frequencies of the dominant and recessive alleles.

ANSWER: Hardy-Weinberg equilibrium or principle

[10] One condition of Hardy-Weinberg equilibrium is a large population size, since it reduces the likelihood of this random fluctuation in allele frequencies.

ANSWER: genetic drift

[10] These events occur when a large proportion of the population is killed in a short period of time. In general, the surviving population is not representative of the original.

ANSWER: population bottlenecks [or bottleneck effect; accept equivalents]

21.The protagonist of this work struggles with the ravings of his aunt Dante Riordan. For 10 points each:

[10] Name this novel about the coming of age of Stephen Daedalus, set around the time of Parnell's death.

ANSWER: A Portrait of the Artist as a Young Man

[10] This Irish author of Ulysses wrote A Portrait of the Artist as a Young Man.

ANSWER: James Joyce

[10] This collection of short stories by Joyce includes "The Dead" and "Ivy Day in the Committee Room".

ANSWER: Dubliners

